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SCH 4U Titration Quiz = .

1. Determine the wvolume of 0.05 M SOdlum'hydrox1de (NaQH) that
1s required to neutrallze 45 mL of 2 O M. sulphurlc acid
(H2304) . - . /

H,50q + :ZMGOH - u,. SO.\ . 2HL0

Vg = 2;‘: 20wty x 0045 L
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Vg = 3.6L o 3600mL 7

2. A mixture of phosphoric acid (H;P0Q,) and sulphuric acid
{(H,S0,) is neutralized be sodium carbonate (Na,C0O;) and
barium hydroxide (Ba(OH),). . If 5 L. of 3 M phosphoric acid
and 2 L of 18 M sulphuric acid has been treated with 3 kg of

barium hydroxide, what mass in- kllograms of sodium carbonate
“is requlred to flnlsh the. job°
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A mlxture of KHSO4and NaCl is 45 8% pota351um bisulphate by
mass. What volume of 0.1 M HCl would you 'expect to add if

2.000 g of the mlxture ‘has already been treated with 50 mL
of 0.5 M NaOH? ' S
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